



VICTORIA UNIVERSITY
MELBOURNE AUSTRALIA

Inequalities of Hermite–Hadamard type for HH-convex functions

This is the Published version of the following publication

Dragomir, Sever S (2018) Inequalities of Hermite–Hadamard type for HH-convex functions. Acta et Commentationes Universitatis Tartuensis de Mathematica, 22 (2). pp. 179-190. ISSN 1406-2283

The publisher's official version can be found at
<http://acutmath.math.ut.ee/index.php/acutmath/article/view/ACUTM.2018.22.15>
Note that access to this version may require subscription.

Downloaded from VU Research Repository <https://vuir.vu.edu.au/39146/>

Inequalities of Hermite–Hadamard type for HH -convex functions

S. S. DRAGOMIR

ABSTRACT. Some inequalities of Hermite–Hadamard type for HH -convex functions defined on positive intervals are given. Applications for special means are also provided.

1. Introduction

Let $I \subset \mathbb{R} \setminus \{0\}$. Following [1] (see also [6]) we say that a function $f : I \rightarrow \mathbb{R}$ is HA -convex if

$$f\left(\frac{xy}{tx + (1-t)y}\right) \leq (1-t)f(x) + tf(y) \quad (1.1)$$

for all $x, y \in I$ and $t \in [0, 1]$. If the inequality in (1.1) is reversed, then f is said to be HA -concave.

If $I \subset (0, \infty)$ and f is convex and nondecreasing, then f is HA -convex, and if f is HA -convex and nonincreasing, then f is convex.

If $[a, b] \subset I \subset (0, \infty)$ and if we consider the function $g : [1/b, 1/a] \rightarrow \mathbb{R}$, defined by $g(t) = f(1/t)$, then we can state the following fact.

Lemma 1 (see [1]). *The function f is HA -convex (concave) on $[a, b]$ if and only if g is convex (concave) in the usual sense on $[1/b, 1/a]$.*

Therefore, as examples of HA -convex functions we can take $f(t) = g(1/t)$, where g is any convex function on $[1/b, 1/a]$.

In the recent paper [5] we obtained the following characterization result as well.

Lemma 2. *Let $[a, b] \subset (0, \infty)$ and let $f, h : [a, b] \rightarrow \mathbb{R}$ be so that $h(t) = tf(t)$ for $t \in [a, b]$. Then f is HA -convex (concave) on the interval $[a, b]$ if and only if h is convex (concave) on $[a, b]$.*

Received April 11, 2017.

2010 *Mathematics Subject Classification.* 26D15; 25D10.

Key words and phrases. Convex functions; integral inequalities; HH -convex functions.

<http://dx.doi.org/10.12697/ACUTM.2018.22.15>

Following [1], we say that a function $f : I \rightarrow (0, \infty)$ with $I \subset \mathbb{R} \setminus \{0\}$ is *HH-convex* if

$$f\left(\frac{xy}{tx + (1-t)y}\right) \leq \frac{f(x)f(y)}{(1-t)f(y) + tf(x)} \quad (1.2)$$

for all $x, y \in I$ and $t \in [0, 1]$. If the inequality in (1.2) is reversed, then f is said to be *HH-concave*.

We observe that the inequality (1.2) is equivalent to

$$(1-t)\frac{1}{f(x)} + t\frac{1}{f(y)} \leq \frac{1}{f\left(\frac{xy}{tx + (1-t)y}\right)} \quad (1.3)$$

for all $x, y \in I$ and $t \in [0, 1]$. Therefore we have the following fact.

Lemma 3. *A function $f : I \rightarrow (0, \infty)$ is HH-convex (concave) on I if and only if $g : I \rightarrow (0, \infty)$, $g(x) = \frac{1}{f(x)}$, is HA-concave (convex) on I .*

Taking into account the above lemmas, we can state the following result.

Proposition 1. *Let $f : [a, b] \rightarrow (0, \infty)$, where $[a, b] \subset (0, \infty)$. Define the related functions*

$$P_f : [1/b, 1/a] \rightarrow (0, \infty), \quad P_f(x) = \frac{1}{f\left(\frac{1}{x}\right)},$$

and

$$Q_f : [a, b] \rightarrow (0, \infty), \quad Q_f(x) = \frac{x}{f(x)}.$$

The following statements are equivalent:

- (i) *the function f is HH-convex (concave) on $[a, b]$;*
- (ii) *the function P_f is concave (convex) on $[1/b, 1/a]$;*
- (iii) *the function Q_f is concave (convex) on $[a, b]$.*

For a convex function $h : [c, d] \rightarrow \mathbb{R}$, the following inequality is well known in the literature as the *Hermite–Hadamard inequality*:

$$h\left(\frac{c+d}{2}\right) \leq \frac{1}{d-c} \int_c^d h(t) dt \leq \frac{h(c) + h(d)}{2}. \quad (1.4)$$

For related results and references, see e.g. [4].

Motivated by the above results, we establish in this paper some inequalities of Hermite–Hadamard type for *HH-convex* functions defined on positive intervals. Applications for special means are also provided.

2. The results

We have the following result that can be obtained by the use of the regular Hermite–Hadamard inequality (1.4).

Theorem 1. *Let $f : [a, b] \rightarrow (0, \infty)$ be an HH -convex (concave) function on $[a, b] \subset (0, \infty)$. Then we have*

$$f\left(\frac{2ab}{a+b}\right) \geq (\leq) \frac{ab}{b-a} \int_a^b \frac{1}{t^2 f(t)} dt \geq (\leq) \frac{f(b) + f(a)}{2} \quad (2.1)$$

and

$$\frac{\frac{a+b}{2}}{f\left(\frac{a+b}{2}\right)} \geq (\leq) \frac{1}{b-a} \int_a^b \frac{t}{f(t)} dt \geq (\leq) \frac{af(b) + bf(a)}{2f(a)f(b)}. \quad (2.2)$$

Proof. Since f is HH -convex (concave) on $[a, b]$, by Proposition 1 we have that P_f is concave (convex) on $[1/b, 1/a]$. By Hermite–Hadamard inequality (1.4) for P_f we have

$$f\left(\frac{1}{\frac{1}{a} + \frac{1}{b}}\right) \geq (\leq) \frac{1}{1/a - 1/b} \int_{1/b}^{1/a} \frac{1}{f(1/s)} ds \geq (\leq) \frac{f\left(\frac{1}{1/b}\right) + f\left(\frac{1}{1/a}\right)}{2},$$

which is equivalent to

$$f\left(\frac{2ab}{a+b}\right) \geq (\leq) \frac{ab}{b-a} \int_{1/b}^{1/a} \frac{1}{f(1/s)} ds \geq (\leq) \frac{f(b) + f(a)}{2}. \quad (2.3)$$

If we make the change of variable $1/s = t$, then $s = 1/t$ and $ds = -dt/t^2$ and from (2.3) we get (2.1).

Since f is HH -convex (concave) on $[a, b]$, by Proposition 1 we also have that Q_f is concave (convex) on $[a, b]$. By Hermite–Hadamard inequality (1.4) for Q_f we have

$$\frac{\frac{a+b}{2}}{f\left(\frac{a+b}{2}\right)} \geq (\leq) \frac{1}{b-a} \int_a^b \frac{t}{f(t)} dt \geq (\leq) \frac{\frac{a}{f(a)} + \frac{b}{f(b)}}{2},$$

which is equivalent to (2.2). \square

We use the following result obtained by the author in [2] and [3].

Lemma 4. *Let $h : [\alpha, \beta] \rightarrow \mathbb{R}$ be a convex (concave) function on $[\alpha, \beta]$. Then we have the inequalities*

$$0 \leq (\geq) \frac{h(\alpha) + h(\beta)}{2} - \frac{1}{\beta - \alpha} \int_{\alpha}^{\beta} h(t) dt \leq (\geq) \frac{1}{8} [h'_-(\beta) - h'_+(\alpha)] (\beta - \alpha) \quad (2.4)$$

and

$$0 \leq (\geq) \frac{1}{\beta - \alpha} \int_{\alpha}^{\beta} h(t) dt - h\left(\frac{\alpha + \beta}{2}\right) \leq (\geq) \frac{1}{8} [h'_{-}(\beta) - h'_{+}(\alpha)] (\beta - \alpha). \quad (2.5)$$

The constant $1/8$ is best possible in (2.4) and (2.5).

We have the following reverse inequalities.

Theorem 2. Let $f : [a, b] \rightarrow (0, \infty)$ be an *HH-convex* (concave) function on $[a, b] \subset (0, \infty)$. Then we have

$$\begin{aligned} 0 &\geq (\leq) \frac{f(b) + f(a)}{2} - \frac{ab}{b-a} \int_a^b \frac{1}{t^2 f(t)} dt \\ &\geq (\leq) \frac{1}{8ab} \left(\frac{a^2}{f^2(a)} f'_{+}(a) - \frac{b^2}{f^2(b)} f'_{-}(b) \right) (b-a), \end{aligned} \quad (2.6)$$

$$\begin{aligned} 0 &\geq (\leq) \frac{ab}{b-a} \int_a^b \frac{1}{t^2 f(t)} dt - f\left(\frac{2ab}{a+b}\right) \geq (\leq) \\ &\geq (\leq) \frac{1}{8ab} \left(\frac{a^2}{f^2(a)} f'_{+}(a) - \frac{b^2}{f^2(b)} f'_{-}(b) \right) (b-a), \end{aligned} \quad (2.7)$$

$$\begin{aligned} 0 &\geq (\leq) \frac{af(b) + bf(a)}{2f(a)f(b)} - \frac{1}{b-a} \int_a^b \frac{t}{f(t)} dt \\ &\geq (\leq) \frac{1}{8} \left(\frac{f(b) - bf'_{-}(b)}{f^2(b)} - \frac{f(a) - af'_{+}(a)}{f^2(a)} \right) (b-a) \end{aligned} \quad (2.8)$$

and

$$\begin{aligned} 0 &\geq (\leq) \frac{1}{b-a} \int_a^b \frac{t}{f(t)} dt - \frac{\frac{a+b}{2}}{f\left(\frac{a+b}{2}\right)} \\ &\geq (\leq) \frac{1}{8} \left(\frac{f(b) - bf'_{-}(b)}{f^2(b)} - \frac{f(a) - af'_{+}(a)}{f^2(a)} \right) (b-a). \end{aligned} \quad (2.9)$$

Proof. The first part in all inequalities (2.6)–(2.9) follows from Theorem 1.

Now, if we take the derivative of $P_f(x)$, then we have

$$\begin{aligned} P'_f(x) &= \left(\frac{1}{f\left(\frac{1}{x}\right)} \right)' = \left(f^{-1}\left(\frac{1}{x}\right) \right)' = -f^{-2}\left(\frac{1}{x}\right) \left(f\left(\frac{1}{x}\right) \right)' \\ &= -f^{-2}\left(\frac{1}{x}\right) f'\left(\frac{1}{x}\right) \left(-\frac{1}{x^2} \right) = f^{-2}\left(\frac{1}{x}\right) f'\left(\frac{1}{x}\right) \left(\frac{1}{x^2} \right). \end{aligned}$$

Therefore we have

$$P'_{+f}\left(\frac{1}{b}\right) = b^2 f^{-2}(b) f'_{-}(b) = \frac{b^2}{f^2(b)} f'_{-}(b)$$

and

$$P'_{-f} \left(\frac{1}{a} \right) = a^2 f^{-2}(a) f'_+(a) = \frac{a^2}{f^2(a)} f'_+(a)$$

and by the right hand side inequalities in Lemma 4 we get the corresponding inequalities in (2.6) and (2.7).

If we take the derivative of Q_f , we have

$$Q'_f(x) = \left(\frac{x}{f(x)} \right)' = \frac{f(x) - x f'(x)}{f^2(x)}.$$

Therefore

$$Q'_{+f}(a) = \frac{f(a) - a f'_+(a)}{f^2(a)} \quad \text{and} \quad Q'_{-f}(b) = \frac{f(b) - b f'_-(b)}{f^2(b)},$$

and by the right hand side inequalities in Lemma 4 we get the corresponding inequalities in (2.8) and (2.9). \square

Theorem 3. *Let $f : [a, b] \rightarrow (0, \infty)$ be an HH-convex (concave) function on $[a, b] \subset (0, \infty)$. Then we have*

$$\frac{ab}{b-a} \int_a^b \frac{f(t)}{t^2} dt \leq (\geq) \frac{G^2(f(a), f(b))}{L(f(a), f(b))}. \quad (2.10)$$

Proof. By the definition of HH-convex (concave) function, we have by integrating on $[0, 1]$ over λ , that

$$\int_0^1 f \left(\frac{ab}{(1-\lambda)b + \lambda a} \right) d\lambda \leq (\geq) \int_0^1 \frac{f(a)f(b)}{(1-\lambda)f(b) + \lambda f(a)} d\lambda. \quad (2.11)$$

Consider the change of variable $\frac{ab}{(1-\lambda)b + \lambda a} = t$. Then $(1-\lambda)b + \lambda a = \frac{ab}{t}$ and $(b-a)d\lambda = \frac{ab}{t^2} dt$. Using this change of variable, we have

$$\int_0^1 f \left(\frac{ab}{(1-\lambda)b + \lambda a} \right) d\lambda = \frac{ab}{b-a} \int_a^b \frac{f(t)}{t^2} dt.$$

If $f(b) = f(a)$, then

$$\int_0^1 \frac{f(a)f(b)}{(1-\lambda)f(b) + \lambda f(a)} d\lambda = f(a).$$

If $f(b) \neq f(a)$, then by the change of variable $(1-\lambda)f(b) + \lambda f(a) = s$, we have

$$\begin{aligned} \int_0^1 \frac{f(a)f(b)}{(1-\lambda)f(b) + \lambda f(a)} d\lambda &= \frac{f(a)f(b)}{f(a) - f(b)} \int_{f(b)}^{f(a)} \frac{ds}{s} \\ &= \frac{f(a)f(b)}{L(f(a), f(b))} = \frac{G^2(f(a), f(b))}{L(f(a), f(b))}. \end{aligned}$$

By making use of (2.11) we deduce the desired result (2.10). \square

We also have the following theorem.

Theorem 4. *Let $f : [a, b] \rightarrow (0, \infty)$ be an HH -convex (concave) function on $[a, b] \subset (0, \infty)$. Then we have*

$$f\left(\frac{2ab}{a+b}\right) \leq (\geq) \frac{\int_a^b \frac{1}{t^2} f(t) f\left(\frac{abt}{(a+b)t-ab}\right) dt}{\int_a^b \frac{f(t)}{t^2} dt}. \quad (2.12)$$

Proof. From the definition of an HH -convex (concave) function we have

$$f\left(\frac{2xy}{x+y}\right) \leq (\geq) \frac{2f(x)f(y)}{f(x)+f(y)} \quad (2.13)$$

for any $x, y \in [a, b]$.

If we take

$$x = \frac{ab}{(1-\lambda)b + \lambda a}, \quad y = \frac{ab}{(1-\lambda)a + \lambda b} \in [a, b],$$

then

$$\begin{aligned} \frac{2xy}{x+y} &= \frac{2 \frac{ab}{(1-\lambda)b + \lambda a} \cdot \frac{ab}{(1-\lambda)a + \lambda b}}{\frac{ab}{(1-\lambda)b + \lambda a} + \frac{ab}{(1-\lambda)a + \lambda b}} = \frac{2 \frac{1}{(1-\lambda)b + \lambda a} \cdot \frac{ab}{(1-\lambda)a + \lambda b}}{\frac{1}{(1-\lambda)b + \lambda a} + \frac{1}{(1-\lambda)a + \lambda b}} \\ &= \frac{2 \frac{1}{(1-\lambda)b + \lambda a} \cdot \frac{ab}{(1-\lambda)a + \lambda b}}{\frac{(1-\lambda)a + \lambda b + (1-\lambda)b + \lambda a}{((1-\lambda)b + \lambda a)((1-\lambda)a + \lambda b)}} = \frac{2ab}{a+b}, \end{aligned}$$

and by (2.13) we get

$$f\left(\frac{2ab}{a+b}\right) \leq (\geq) \frac{2f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) f\left(\frac{ab}{(1-\lambda)a + \lambda b}\right)}{f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) + f\left(\frac{ab}{(1-\lambda)a + \lambda b}\right)},$$

which is equivalent to

$$\begin{aligned} f\left(\frac{2ab}{a+b}\right) \left[f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) + f\left(\frac{ab}{(1-\lambda)a + \lambda b}\right) \right] \\ \leq (\geq) 2f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) f\left(\frac{ab}{(1-\lambda)a + \lambda b}\right), \end{aligned} \quad (2.14)$$

for any $\lambda \in [0, 1]$.

If we integrate the inequality over λ on $[0, 1]$ we get

$$\begin{aligned} f\left(\frac{2ab}{a+b}\right) \left[\int_0^1 f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) d\lambda + \int_0^1 f\left(\frac{ab}{(1-\lambda)a + \lambda b}\right) d\lambda \right] \\ \leq (\geq) 2 \int_0^1 f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) f\left(\frac{ab}{(1-\lambda)a + \lambda b}\right) d\lambda. \end{aligned} \quad (2.15)$$

Now, we observe that

$$\begin{aligned} \int_0^1 f\left(\frac{ab}{(1-\lambda)a + \lambda b}\right) d\lambda &= \int_0^1 f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) d\lambda \\ &= \frac{ab}{b-a} \int_a^b \frac{f(t)}{t^2} dt \end{aligned} \quad (2.16)$$

and

$$\begin{aligned} &\int_0^1 f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) f\left(\frac{ab}{(1-\lambda)a + \lambda b}\right) d\lambda \\ &= \int_0^1 f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) f\left(\frac{ab}{a+b - ((1-\lambda)b + \lambda a)}\right) d\lambda \\ &= \int_0^1 f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) f\left(\frac{1}{\frac{1}{b} + \frac{1}{a} - \frac{((1-\lambda)b + \lambda a)}{ab}}\right) d\lambda. \end{aligned} \quad (2.17)$$

If we change the variable $t = \frac{ab}{(1-\lambda)b + \lambda a}$, then we have

$$\begin{aligned} &\int_0^1 f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) f\left(\frac{1}{\frac{1}{b} + \frac{1}{a} - \frac{((1-\lambda)b + \lambda a)}{ab}}\right) d\lambda \\ &= \frac{ab}{b-a} \int_a^b \frac{1}{t^2} f(t) f\left(\frac{1}{\frac{1}{b} + \frac{1}{a} - \frac{1}{t}}\right) dt \\ &= \frac{ab}{b-a} \int_a^b \frac{1}{t^2} f(t) f\left(\frac{abt}{(a+b)t - ab}\right) dt. \end{aligned} \quad (2.18)$$

On making use of (2.15)–(2.18) we deduce the desired result (2.12). \square

Remark 1. By Cauchy–Bunyakovsky–Schwarz integral inequality we have

$$\begin{aligned} &\int_0^1 f\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) f\left(\frac{ab}{(1-\lambda)a + \lambda b}\right) d\lambda \\ &\leq \left(\int_0^1 f^2\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) d\lambda\right)^{1/2} \\ &\quad \times \left(\int_0^1 f^2\left(\frac{ab}{(1-\lambda)a + \lambda b}\right) d\lambda\right)^{1/2} \\ &= \int_0^1 f^2\left(\frac{ab}{(1-\lambda)b + \lambda a}\right) d\lambda = \int_a^b \frac{f^2(t)}{t^2} dt. \end{aligned} \quad (2.19)$$

Now, if $f : [a, b] \rightarrow \mathbb{R}$ is an HH-convex function on $[a, b] \subset (0, \infty)$, then by (2.12) and (2.19) we get

$$f\left(\frac{2ab}{a+b}\right) \leq \frac{\int_a^b \frac{1}{t^2} f(t) f\left(\frac{abt}{(a+b)t - ab}\right) dt}{\int_a^b \frac{f(t)}{t^2} dt} \leq \frac{\int_a^b \frac{f^2(t)}{t^2} dt}{\int_a^b \frac{f(t)}{t^2} dt}. \quad (2.20)$$

The following lemma is of interest as well.

Lemma 5. *If $f : [a, b] \rightarrow (0, \infty)$ is HH -convex on $[a, b] \subset (0, \infty)$, then the associated function $R_f : [a, b] \rightarrow (0, \infty)$, $R_f(x) = \frac{f(x)}{x}$, is convex on $[a, b]$. The reverse is not true.*

Proof. Let $\alpha, \beta > 0$ with $\alpha + \beta = 1$ and $x, y \in [a, b]$.

By the HH -convexity of f we have

$$\begin{aligned} R_f(\alpha x + \beta y) &= \frac{f(\alpha x + \beta y)}{\alpha x + \beta y} = \frac{f\left(\frac{1}{\frac{1}{\alpha x} + \frac{1}{\beta y}}\right)}{\alpha x + \beta y} = \frac{f\left(\frac{1}{\frac{\alpha x \frac{1}{x} + \beta y \frac{1}{y}}{\alpha x + \beta y}}\right)}{\alpha x + \beta y} \\ &\leq \frac{\frac{1}{\frac{\alpha x \frac{1}{f(x)} + \beta y \frac{1}{f(y)}}{\alpha x + \beta y}}}{\alpha x + \beta y} = \frac{\alpha x + \beta y}{\alpha x \frac{1}{f(x)} + \beta y \frac{1}{f(y)}} \cdot \frac{1}{\alpha x + \beta y} \\ &= \frac{1}{\alpha \frac{x}{f(x)} + \beta \frac{y}{f(y)}}. \end{aligned} \quad (2.21)$$

By the weighted Cauchy–Bunyakovsky–Schwarz inequality we have

$$\begin{aligned} \left(\alpha \frac{x}{f(x)} + \beta \frac{y}{f(y)}\right) \left(\alpha \frac{f(x)}{x} + \beta \frac{f(y)}{y}\right) &= \left(\alpha \left(\sqrt{\frac{x}{f(x)}}\right)^2 + \beta \left(\sqrt{\frac{y}{f(y)}}\right)^2\right) \left(\alpha \left(\sqrt{\frac{f(x)}{x}}\right)^2 + \beta \left(\sqrt{\frac{f(y)}{y}}\right)^2\right) \\ &\geq (\alpha + \beta)^2 = 1, \end{aligned}$$

which implies that

$$\frac{1}{\alpha \frac{x}{f(x)} + \beta \frac{y}{f(y)}} \leq \alpha \frac{f(x)}{x} + \beta \frac{f(y)}{y}$$

for any $\alpha, \beta > 0$ with $\alpha + \beta = 1$ and $x, y \in [a, b]$.

By (2.21) we have

$$R_f(\alpha x + \beta y) \leq \alpha \frac{f(x)}{x} + \beta \frac{f(y)}{y} = \alpha R_f(x) + \beta R_f(y)$$

for any $\alpha, \beta > 0$ with $\alpha + \beta = 1$ and $x, y \in [a, b]$, which shows that R_f is convex on $[a, b]$.

Consider the function $f : [a, b] \rightarrow (0, \infty)$, $f(x) = x^p$, $p \neq 0$. The function $R_f(x) = x^{p-1}$ is convex if and only if $p \in (-\infty, 1) \cup [2, \infty)$. Since $Q_f(x) = x^{1-p}$ is concave if and only if $p \in (0, 1)$, by Proposition 1 we have that the function $f : [a, b] \rightarrow (0, \infty)$, $f(x) = x^p$, is HH -convex if and only if Q_f is concave, namely $p \in (0, 1)$. Therefore, R_f is convex and not HH -convex if $p \in (-\infty, 0) \cup [2, \infty)$. \square

If we denote by $\mathcal{C}_I[a, b]$ the class of all positive functions f for which R_f is convex, then the class of HH -convex functions $f : [a, b] \rightarrow (0, \infty)$ on $[a, b] \subset (0, \infty)$ is strictly enclosed in $\mathcal{C}_I[a, b]$.

We have the following inequalities of Hermite-Hadamard type.

Theorem 5. *If $f \in \mathcal{C}_I[a, b]$, then we have*

$$\frac{f\left(\frac{a+b}{2}\right)}{\frac{a+b}{2}} \leq \frac{1}{b-a} \int_a^b \frac{f(t)}{t} dt \leq \frac{f(a)b + f(b)a}{2ab}, \quad (2.22)$$

$$\begin{aligned} 0 &\leq \frac{f(a)b + f(b)a}{2ab} - \frac{1}{b-a} \int_a^b \frac{f(t)}{t} dt \\ &\leq \frac{1}{8} \left[\frac{f'_-(b)b - f(b)}{b^2} - \frac{f'_+(a)a - f(a)}{a^2} \right] (b-a) \end{aligned} \quad (2.23)$$

and

$$\begin{aligned} 0 &\leq \frac{1}{b-a} \int_a^b \frac{f(t)}{t} dt - \frac{f\left(\frac{a+b}{2}\right)}{\frac{a+b}{2}} \\ &\leq \frac{1}{8} \left[\frac{f'_-(b)b - f(b)}{b^2} - \frac{f'_+(a)a - f(a)}{a^2} \right] (b-a). \end{aligned} \quad (2.24)$$

Proof. By the Hermite-Hadamard inequalities (1.4) for R_f we have

$$\frac{f\left(\frac{a+b}{2}\right)}{\frac{a+b}{2}} \leq \frac{1}{b-a} \int_a^b \frac{f(t)}{t} dt \leq \frac{\frac{f(a)}{a} + \frac{f(b)}{b}}{2}$$

and the inequality (2.22) is proved.

We have

$$R'_f(t) = \left(\frac{f(t)}{t} \right)' = \frac{f'(t)t - f(t)}{t^2}$$

and then

$$R'_{-f}(b) = \frac{f'_-(b)b - f(b)}{b^2} \quad \text{and} \quad R'_{+f}(a) = \frac{f'_+(a)a - f(a)}{a^2}.$$

By Lemma 4 we have

$$\begin{aligned} 0 &\leq \frac{\frac{f(a)}{a} + \frac{f(b)}{b}}{2} - \frac{1}{b-a} \int_a^b \frac{f(t)}{t} dt \\ &\leq \frac{1}{8} \left[\frac{f'_-(b)b - f(b)}{b^2} - \frac{f'_+(a)a - f(a)}{a^2} \right] (b-a) \end{aligned}$$

and

$$\begin{aligned} 0 &\leq \frac{1}{b-a} \int_a^b \frac{f(t)}{t} dt - \frac{f\left(\frac{a+b}{2}\right)}{\frac{a+b}{2}} \\ &\leq \frac{1}{8} \left[\frac{f'_-(b)b - f(b)}{b^2} - \frac{f'_+(a)a - f(a)}{a^2} \right] (b-a), \end{aligned}$$

which are equivalent to the desired inequalities (2.23) and (2.24). \square

3. Applications

Consider the function $f : [a, b] \rightarrow (0, \infty)$, $f(x) = x^p$, on $[a, b] \subset (0, \infty)$. Observe that $Q_f(x) = x^{p-1}$ is convex if and only if $p \in (-\infty, 1) \cup [2, \infty)$ and concave if and only if $p \in (1, 2)$. By Proposition 1 we have that the function f is *HH*-convex (concave) on $[a, b]$ if and only if Q_f is concave (convex) on $[a, b]$, namely $p \in (1, 2)$ ($p \in (-\infty, 1) \cup [2, \infty)$).

We introduce the L_q -harmonic mean for $q \neq 0, -1$ by

$$L_q(a, b) := \begin{cases} \left(\frac{b^{q+1} - a^{q+1}}{(q+1)(b-a)} \right)^{\frac{1}{q}} & \text{if } b \neq a, \\ b & \text{if } b = a, \end{cases}$$

the *logarithmic mean* by

$$L(a, b) := \begin{cases} \frac{b-a}{\ln b - \ln a} & \text{if } b \neq a, \\ b & \text{if } b = a, \end{cases}$$

and the *identric mean* by

$$I(a, b) := \begin{cases} \frac{1}{e} \left(\frac{b^b}{a^a} \right)^{\frac{1}{b-a}} & \text{if } b \neq a, \\ b & \text{if } b = a. \end{cases}$$

If we set $L_0(a, b) := I(a, b)$ and $L_{-1}(a, b) := L(a, b)$, then we have that the function $\mathbb{R} \ni q \mapsto L_q(a, b)$ is monotonic increasing as a function of q . We also have the inequalities

$$H(a, b) \leq G(a, b) \leq L(a, b) \leq I(a, b) \leq A(a, b).$$

By making use of Theorem 1 we have for $p \in (1, 2)$ ($p \in (-\infty, 1) \cup [2, \infty)$) that

$$\frac{H^p(a, b)}{G^2(a, b)} \geq (\leq) L_{-p-2}^{p-2}(a, b) \geq (\leq) \frac{A(a^p, b^p)}{G^2(a, b)}, \quad p \neq 0 \quad (3.1)$$

and

$$A^{1-p}(a, b) \geq (\leq) L_{1-p}^{1-p}(a, b) \geq (\leq) A(a^{p-1}, b^{p-1}). \quad (3.2)$$

If we take $p = -1$ in (3.1), then we get

$$\frac{1}{G^2(a, b) H(a, b)} \leq \frac{1}{L(a, b)} \leq \frac{A(a^{-1}, b^{-1})}{G^2(a, b)}.$$

By Theorem 3 we have for $p \in (1, 2)$ ($p \in (-\infty, 1) \cup [2, \infty)$)

$$G^2(a, b) L_{p-2}^{p-2}(a, b) \leq (\geq) \frac{G^2(a^p, b^p)}{L(a^p, b^p)}. \quad (3.3)$$

Observe that

$$\begin{aligned} L(a^p, b^p) &= \frac{b^p - a^p}{p(\ln b - \ln a)} = \frac{b^p - a^p}{p(b - a)} \cdot \frac{b - a}{\ln b - \ln a} \\ &= L_{p-1}^{p-1}(a, b) L(a, b). \end{aligned}$$

By (3.3) we get that

$$L_{p-2}^{p-2}(a, b) L_{p-1}^{p-1}(a, b) \leq (\geq) \frac{G^2(a^p, b^p)}{G^2(a, b) L(a, b)}, \quad (3.4)$$

for $p \in (1, 2)$ ($p \in (-\infty, 1) \cup (2, \infty)$).

Now, consider the function $f : [a, b] \rightarrow (0, \infty)$, $f(t) = \frac{t}{\ln t}$, on $[a, b] \subset (1, \infty)$. Then $Q_f(x) = x / \frac{x}{\ln x} = \ln x$ is concave on $[a, b]$, therefore f is HH -convex on $[a, b] \subset (1, \infty)$. If we use the inequality (2.2), then we get the well-known inequality

$$A(a, b) \geq I(a, b) \geq G(a, b).$$

If we use the inequality (2.10) for $f(t) = \frac{t}{\ln t}$, then we get

$$\frac{ab}{b-a} \int_a^b \frac{1}{t \ln t} dt \leq \frac{G^2\left(\frac{a}{\ln a}, \frac{b}{\ln b}\right)}{L\left(\frac{a}{\ln a}, \frac{b}{\ln b}\right)}. \quad (3.5)$$

Since

$$\int_a^b \frac{1}{t \ln t} dt = \int_a^b \frac{1}{\ln t} d(\ln t) = \ln(\ln b) - \ln(\ln a),$$

and

$$G^2\left(\frac{a}{\ln a}, \frac{b}{\ln b}\right) = \frac{G^2(a, b)}{G^2(\ln a, \ln b)},$$

from (3.5) we have

$$G^2(\ln a, \ln b) L\left(\frac{a}{\ln a}, \frac{b}{\ln b}\right) \leq L(a, b) L(\ln b, \ln a). \quad (3.6)$$

References

- [1] G. D. Anderson, M. K. Vamanamurthy, and M. Vuorinen, *Generalized convexity and inequalities*, J. Math. Anal. Appl. **335** (2007), 1294–1308.
- [2] S. S. Dragomir, *An inequality improving the first Hermite-Hadamard inequality for convex functions defined on linear spaces and applications for semi-inner products*, J. Inequal. Pure Appl. Math. **3**(2) (2002), Article 31, 8 pp.
- [3] S. S. Dragomir, *An inequality improving the second Hermite-Hadamard inequality for convex functions defined on linear spaces and applications for semi-inner products*, J. Inequal. Pure Appl. Math. **3**(3) (2002), Article 35, 8 pp.
- [4] S. S. Dragomir, *Operator Inequalities of Ostrowski and Trapezoidal Type*, Springer Briefs in Mathematics, Springer, New York, 2012.

- [5] S. S. Dragomir, *New inequalities of Hermite-Hadamard type for HA-convex functions*, J. Numer. Anal. Approx. Theory **47**(1) (2018), 26–41.
- [6] I. İşcan, *Hermite-Hadamard type inequalities for harmonically convex functions*, Hacet. J. Math. Stat. **43**(6) (2014), 935–942.

MATHEMATICS, COLLEGE OF ENGINEERING AND SCIENCE, VICTORIA UNIVERSITY, PO BOX 14428, MELBOURNE CITY, MC 8001, AUSTRALIA; DST-NRF CENTRE OF EXCELLENCE, IN THE MATHEMATICAL AND STATISTICAL SCIENCES, SCHOOL OF COMPUTATIONAL AND APPLIED MATHEMATICS, UNIVERSITY OF THE WITWATERSRAND, PRIVATE BAG 3, JOHANNESBURG 2050, SOUTH AFRICA

E-mail address: `sever.dragomir@vu.edu.au`

URL: <http://rgmia.org/dragomir>